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(A) Rer

(8) Fredar

(€) el &

(D) I

R R BT 3

(A) U YT R
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3R IY TR W [9ad BT

(D) SWad # | BIS T2

(3)

In public zero based budgeting was first
introduced in :

(A) U.K.

(B) U.S.A.

(C) France

(D) Sweden

In proportional tax system, the rate of tax

remains :

(A) constant
(B) increasing
(C) decreasing

(D) zero

Incidence of tax means :

(A) Direct money burden
(B) Indirect money burden
(C) Actual tax burden

(D) None of the above

What is the tax shifting ?

(A) To bear the tax burden on self
(B) To shift the tax burden on others

(C) To bear some part of the tax on self

and shift the rest on others

(D) None of the above
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(A) T IR

(8) ol &%
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(D) SWE ¥ W B &l
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Ol T4, ¢ B YURM ¥ $ TG

AR b b e HR JA & T
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(A) 15

(B) 20

C) 12

(D) 17

(4)

Which of the following is the main source

of revenue for Government of India ?

(A) Direct tax
(B)
(©)

(D)

Capital levy
Grant in aid

Indirect tax

The Finance Commission role is to :

(A) Propose new taxes
(B) Abolish old taxes

(C) Review and modify arrangement

(D) None of the above

Loan taken by the Government for
purpose of war and earthquakes for
covering budget deficit are :

(A)
(B)
(©)
(D)

Productive debt
Unproductive debt
Voluntary debt

None of the above

With the launch of GST how many
indirect taxes of Central and States have

been eliminated ?

(A) 15
(B) 20
(C) 12
(D) 17
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(5)

10.

11.

12.

Which of the following is not an

objective of public debt management ?
(A)
(B)
(©)

Loan at low cost
Repayment over a long period

Stabilisation of the level of

economic activity

(D)

Economic growth

Direct tax are in nature.

(A)
(B)
(®)
(D)

Progressive
Equitable
Regressive

None of the above

The

Government is :

objective of taxation the

by

(A)
(B)
(©)

Raising revenue from the state
To maintain economic stability

To

distribution of income

remove disparity in the

(D) All of the above

Foreign debts are acquired in :
(A)
(B)
(®
(D)

Unlimited quantity
Limited quantity
Restricted quantity

All of the above
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(A) MR Toic

(B) gferd aore
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(A) IR H=AT

(8) Tofl &%

(C) T e fAfer
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(A) 10
(B)
() 11

(D)

15

12

(6)

13.

14.

15.

16.

Federal finance deals with :

(A) State finance
(B)
(®)

(D)

Finance of railway
Local bodies

Center-state financial relation

When expenditure exceeds from total tax

revenue, it is called :

(A)
(B)
(©)
(D)

Surplus budget
Balanced budget
Deficit budget

None of the above

refers to refusal to repay the

(A)
(B)
(©)
(D)

Repudiation
Capital levy
Sinking fund

None of the above

According to Constitution how many
means of income have been reserved for
the Central Govt. ?

(A) 10

(B)
(©)
(D)

15
11
12
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(7)

17.

18.

19.

20.

21.

The main objective of budgetary control
IS :

(A) To define the goal of the firm

(B) To coordinate different departments
(C) To plan to achieve its goals

(D) All of the above

In India the G. S. T. is dual model of :
(A) U.K

(B) Canada

(C) U.S. A

(D) Japan

GST was implemented in India from :

(A) 1stJanuary, 2017
(B) 1st April, 2017
(C) 1st March, 2017
(D) 1stJuly, 2017

Out of the following which is not the
source of public debt from internal
source ?

(A)
(B) Borrowing from countrymen

International financial institution

(C) Commercial Bank
(D) Non-banking institution

is the first country to implement

(A) U.S.A.
(B) U.K.
(©)
(D) France

Canada
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(8)

22.

23.

24,

25.

‘Fees’ received by Government is the

form of income :
(A)
(B)
(©)
(D)

Taxation income
Non-tax income
Unearned income

Both non-taxable and unearned

income

The loans which are redeemable with

interest after fixed time is known as :

(A) Short-term loan
(B)
(®)

(D)

Redeemable loan

Non-refundable loan

Voluntary loan

The
Government takes decisions regarding

policy on the basis of which a

taxation and expenditure is called :

(A)
(B)
(©)
(D)

Investment policy
Monetary policy
Fiscal policy

Budget policy

Is not a principle of federal finance :
(A)  Uniformity
(B) Simplicity
(©)
(D) Adequacy

Independence
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26. fedig fog smam =1 3w+l Rud U9 @ 26. The Second Finance Commission

o - submitted its report in :
(A) RIa=R 1957 H (A) September 1957
(B) fouwR 1962 (B) December 1962
(C) 3ITRd 1965 H (C) August 1965
(D) R 1973 H (D) November 1973
27. RS o M & 3regeT o ¢ 27. The chairman of eleventh Finance

Commission was :

(A) T W G (A) A.M. Khusrau
(B) 3R. TH. gl (B) R.M. Shukla
(C) W A arEh (C) P.C.Joshi
(D) ¥R TH. A (D) R.M. Lal

28 YUY TaT SIMART BT ATYAT 1952 § T 28. The First Finance Commission was
ﬂ%ﬂwﬁg‘% 5 established in 1952 under the

chairmanship of :

(A) TR 3. AL R (A) SirK. C. Niyogi

(B) A & JuH (B) Shri K. Santhanam
(C) M T B w1 (C) Shri A. K. Chandra
(D) &N HEHdR i (D) Shri Mahavir Tyagi

178-N (9) Set-D
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IRA WROR ARIH, 1935 B b R
§ IE Yo Bl RGN B @yawer o
Y ot ?

(A) 141(1)

(B) 175(1)

(C) 275(1)

(D) 269

WREd fad T & g R uw &
T ot

(A) 7 S[ETs, 2000 B

(B) 15 3T, 1999 I

(C) 8 T[els, 2001 B

(D) 15 RyawR, 2001 @

Y foq @ Rrgra @ feae gfauifea
fopar o ?

(A) THHR JCRDN

(B) IfEe IRA

(C) I U. Haqda

(D) dfs ®RI

(10)

29.

30.

31.

The sharing of excise duty was provided
in which Section of Government of India

Act, 1935 ?

(A) 141(1)
(B) 175(1)
(C) 275(1)

(D) 269

The main report of eleventh Finance

Commission was submitted on :

(A) 7 July, 2000

(B) 15 August, 1999

(C) 8July, 2001

(D) 15 September, 2001

Who has given principle of Federal

Finance ?

(A) Prof. Adarkar

(B) Robert Garren

(C) James A. Maxwell

(D) Lord Mayo

Set-D



32.

33.

34.

178-N

HHR, I SR Had] Gl IRT TWER
AMeTH, 1935 B (B Sl H Suele
g ?

(A)  VIIE ST

() Vi g

(C)  VIIET 3T

(D) U Sl

de-AR & Rue few @y H
3 ?

(A) 1936
(B) 1947
(C) 1949

(D) 1945

TR & YOI i W OdR JATH B
- G § 7

(A) &=l

(B) ¥ W

(©) T (A) T (B)

(D) SUYa H A Bl 7l

(11)

32.

33.

34.

The federal, provincial and concurrent list
are provided under which Schedule of

Government of India Act, 1935 ?

(A) Vlith Schedule

(B) Vth Schedule

(C) VIHIth Schedule

(D) Ist Schedule

OTTO-NIEMEYER report came in the

year :

(A) 1936
(B) 1947
(C) 1949

(D) 1945
Taxes on capital value of assets are which

source of revenue ?

(A) Central source

(B) State source

(C) Both (A) and (B)

(D) None of the above
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35. E}z‘fﬁ ag ﬂj‘ﬁ W NS Yoh TH @ fog 35. State Duty on Agricultural Land comes in

i F amr & ? which source of revenue ?
(A XIg I (A) State source

(B) H=lI WK (B) Central source

(C) THl (A) W@ (B) (C) Both (A) and (B)
(D) SWE ¥ ¥ IS el (D) None of the above

36. fad M IR ASHT SMART SHf ¥XdR  36. Finance Commission and  Planning

1 aeldl e Commission both provide to the
Government :

(A) S (A) Revenue

(B) ddud (B) Savings

© Gﬂ‘fﬂﬁ (C) Recommendations

(D) U (D) Loans

37. WMUR HgeM 3FHA 91 Sl § o 37. Balance of trade becomes favourable

when loans are :

O :
(A) fear o & (A) Given

(B) forar wimam 8 (B) Taken

(C) YT foban Srerm @ (C) Paid

(D) AT T B (D) Withdrawn

178-N (12) Set-D
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freferRad & 9 o9-3 grdae o 3l

fererear el 8

(A)  STgdet AT Hefeld
(B) 3rHH faaRor & &H1
() e faem

(D) SHT R ¥R

IR R R foas oy 9 ?

(A) TeH Re
(B) ‘slecHd
(C) #Ua

(D) Teed Al

Nl 4 el § fb B YN BN

1R -

(A) S
(B) SWRH
(C) el

(D) Mg

(13)

38.

30.

40.

Which of these is not a merit of public

debts ?

(A) Favourable balance of payment

(B) Decrease in unequal distribution

(C) Economic growth

(D) Burden on public

Who gave views on

taxation ?

(A) Adam Smith

(B) Dalton

(C) Musgrave

(D) Elton Mayo

Bastable said that taxation

have :

(A) Purposeful

(B) Productive

(C) Expensive

(D) Economical

incidence of

should

Set-D
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A+ Il DI SATgIBar B g Dl
SIcIRE

(A) AT gole A

(B) BRI golc ¥

(C) STaNIe TR & qoic |

(D) STda # | @IS AL

Y AEING i & Rigra ek
fevaT T o -

(A) TR U B N

(B) TR BT ERT

(C) @I gRI

(D) SWa ¥ ¥ I3 Tl

IR | e geeee @l iy

(A) D §F | SUR oAl
(B) T §F W 3 The IV Bl
farerT

(C) A gaT WRY el

(D) SIdT | 0 o

(14)

41.

42.

43.

The need of public goods are fulfilled

by :

(A) Private budget

(B) Government budget

(C) Public institutions budget

(D) None of the above

The principle of zero based budgeting

was developed by :

(A) Peter A. Phyer

(B) Peter Drucker

(C) Keynes

(D) None of the above

In India the method of deficit financing

is:

(A) Borrowing from Central Bank

(B) Withdrawal of own cash balance
from Central Bank

(C) Issuing of new currency

(D) Loan from public

Set-D
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S JewE & QY 8
(A) DIEAl BT g
(B) Fad W I Y

(C) 3 3R &9 & fIaRoT # SRFHH

(D) Suda Wl
e @AY b Hed H glg B BRI
BT I el B :

(A) e e iR faoe

(B) HUUIGRI ST Bl RATAAT

(C) anfdie Reriaxor

(D) SHIE W

I WSS &Y b R e Bl Sl
g

(A) T a9 B MaTIHARN Bl

(B) WfITA 3Magadain af

(C) WH[EH |HE &I ATaeaddrail &l
(D) SWad # | BIS T2

(15)

44,

45.

46.

Evils of deficit financing are :

(A) Rise in prices

(B) Adverse effects on savings

(C) Unequal distribution of income and
wealth

(D) All of the above

The reason for increase in importance of

public expenditure can be said to be :

(A) Economic Development  and

Planning

(B) Establishment of Welfare State

(C) Economic Stability

(D) All of the above

Generally public expenditure satisfies the

requirements of :

(A) Particular group

(B) Individual

(C) Collective group

(D) None of the above

Set-D
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39 el @1 Am foRew w47

Aaute 99 @ fIgr @l ufauifed
fopar 2

(A) RR™

(B) Uws fer

(C) et

(D) Rarel

A H QO RGAIR U @R & foRl 48,

Sl Y fby ST €, I el Wl &

(A) T

(B) 3TFar

(©) &fR® =

(D) SWE & W B &

foft foxg @1 vaar ofeg @ 8 ? 49.

(A) SHBT
(B) ¥ UTQ =T
(C) TN Bl
(D) Suga Wl

foodl o @1 g R $A 8, Weute 50,

I | B Al M B U Sal 8l
Ifd e 8, 39 @8d &
(A) U @

(B) SATUTdd I
(C) Wi @™

(D) SWad # | BIS T2

(16)

Give the name of economist who has

propounded the canon of public

expenditure :

(A) Shirraj

(B) Adam Smith
(C) Marshall
(D) Ricardo

Under depression, the expenditure which
is incurred to achieve full employment; is
called :

(A) Investment
(B) Subsidies
(C) Compensatory expenditure

(D) None of the above

What is the only target of private
finance ?

(A) Public welfare
(B) Earn profit

(C) Causing loss
(D) All of the above

The
higher is the ratio of benefit, from public

lower the income of group, the

expenditure is called :

(A) Regressive expenditure
(B) Proportional expenditure
(C) Progressive expenditure

(D) None of the above

Set-D



51. e fog fAefafed & 9 feed favas 5L

AT & ?
(A) G
(B) BT
(C) M

(D) Suda Wl

52. MYFd JRME WHN SUR B dd 52

forT @1 -1 priarE! A §

A T
(B) <l
(©) eyl
(D) Wt

53. oNfda iReRar fow sferawen &1 yq@ 53

eI g 7
(A) WdF

(B) wWdd

(C) WAF 3R W

(D) SUYa H A Bl 7l

178-N (17)

Public finance believes in which of the

following ?

(A) Public welfare

(B) Self-welfare

(C) Profit

(D) All of the above

Modern economists treats Government

borrowings, which of the following

actions in public finance ?

(A) Perfect

(B) Imperfect

(C) Important

(D) Complete

Economic instability is main quality of

which economy ?

(A) Dependent

(B) Independent

(C) Dependent and independent

(D) None of the above
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Scured H ghg a1 o @

(A) S wfdd 4 g™
(B) SeUTeH fdd BT FH BT
(C) Seure Wl ¥ qfg

(D) STda # | @IS AL

RV RIgr &1 gfquies feae

forar ?
(A) T fer
(B) &

(C) ¥

(D) T

AU PRI T B A1y 2
(A) FJdTCD

(B) SEH

(C) ST

(D) ST W

(18)

54.

55.

56.

What is the meaning of increase in

production ?

(A) Depreciation in production capacity

(B) Equalisation of production power

(C) Increase in production capacity

(D) None of the above

Who coined the principle of Taxation ?

(A) Adam Smith

(B) Hadlay

(C) Aristotle

(D) Bastable

First of all what should be taxation ?

(A) Unproductive

(B) Productive

(C) Consumption

(D) All of the above
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#dl fob 2 @ dEd § ?
(A) 9 drd R @Y B 2
(B) ¥ P 9¢ & Bl &
(C) T4 P ReR Bl 2 |
(D) Suda Wl

I YUTTCll Sl SAaeIGAT AR Tl IR
$ IR BT FEOY N B 8, SS9 d
PEA & 7

(A) ST HR el

(B) HT PR YUITell

(C) 3meRl B YoIel!

(D) fd&d &R gorrell

fafire o) w7 8 ?

(A) SBR & AR AT T IR
(B) A & IAER W T TN IR

(C) % Afdd R AT 1T IR
(D) SWa ¥ ¥ I3 e

OIg fhel B BT HE TAT BRI Ty
8 fh W TSl g, Al SY T bEd © ¢
(A) AT PR

(B) UE IR

(C) SJENTH &x

(D) ATfCrEe aX

(19)

57.

58.

59.

60.

Which situation is called as depression ?

(A)  When prices are decreasing.
(B) When prices are increasing.
(C) When prices are stable.

(D) All of the above

What is the system which includes

all types of taxes according to need

called ?

(A) Defective Tax System
(B) Equal Tax System
(C) Ideal Tax System

(D) Deform Tax System

What is specific tax ?

(A) Tax according to size
(B) Ad-valorem tax

(C) Tax on one person
(D) None of the above

When the impact and incidence of tax is
placed on one person, then it is called :

(A) Indirect tax
(B) Direct tax
(C) Degressive tax

(D) Progressive tax
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fFefoied & 4 o9 @ g &
B gt e g

(A) fama =

(B) SGR

(C) SerET R

(D) HARGH &R

I & IR B A DI BH DR
g

(A) SIS &

(B) Uil &

(C) ST &R

(D) SWad # ¥ DS T2

o ol @1 g Hifes 9R T2 A g,
S Ped © -

(A) TRHITT F0T

(B) 3MIR® VI

(C) drE ®u

(D) SWad # | BIS T2

(20)

61.

62.

63.

Which of the following fulfils justice

principle to a maximum ?

(A) Sales Tax

(B) Income Tax

(C) Production Tax

(D) Entertainment Tax

Inequality in distribution of income is

reduced by :

(A) Proportional tax

(B) Regressive tax

(C) Degressive tax

(D) None of the above

The debts which have no direct money

burden are called :

(A) Individual debt

(B) Internal debt

(C) External debt

(D) None of the above
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HU ARE BN H GH B WA drell 11
T Rl AR

(A) TN

(B) W ¥

(C) T (A) T (B)

(D) STda # | @IS AL

RO |fau & 59 arwe ¥ dw Ud

Tl & i el @ A & T
g ?

(A) 3TTST 250 H 300 T

(B) 3JTE 268 | 300 T

(C) 3JTT 250 W 268 T

(D) SWa ¥ ¥ I3 Tl

IR ¥ AT PR T BT 9L 8

(A) T I PRAT

(B) ENE] SENI I EREVT Y& dxAl
(C) T (A) T (B)
(D) SWad # | BIS T2

(21)

64.

65.

66.

The amount to be deposited in debt
redemption fund should come :

(A) from loan

(B) from taxes

(C) Both (A) and (B)

(D) None of the above

In which Article of the Indian

constitution is the Centre and State

financial relationship described ?

(A) Article 250 to 300

(B) Article 268 to 300

(C) Article 250 to 268

(D) None of the above

The objective of imposing import duty in
Indiais:

(A) To gainincome

(B) To protect domestic industries

(C) Both (A) and (B)

(D) None of the above
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178-N

B, TRI T4 AFHR M Bl ghe 4
o wffa @ e o ™ o, SHe
3eae B o ?

(A) T At

B) A Td B ;W

(C) WHWR B. T, I

(D) STda ¥ & Big AL

qolc Jff<H ®U W Wigd AFT S
T o9

(A) d 9T F U Bl

(B) NIS¥ | W U &

(©) vt § wpfy el

(D) Suga H A Bl 7Tl
Aol fad TR g

(A) TH ¥

(B) T A

(C) WG TR & foRiy yRmes &

(D) ST W
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67.

68.

69.

Who was the chairman of the committee
formed to impose agriculture, wealth and

income tax ?

(A) Shri Bhootlingama
(B) ShriL. K. Jha
(C) Prof. K. N. Rgj

(D) None of the above

Budget is finally accepted when :

(A) Passed in Lok Shaba
(B) Passed in Rajya Sabha
(C) Consent by President of India

(D) None of the above

Public finance is concerned with :

(A) Revenue

(B) Expenditure

(C) Financial administration of public
institution

(D) All of the above

Set-D



70. 9%Td & AR HH-Al O ol fag & 70,

eI H e © ?
(A)  SATTHATHD

(B) T HH®

(©) T (A) W (B)
(D) SWE & W B &

71, WAR SHFaT 9 R o Gdhdl 71,

g

(A) O T B [ &R & ford

(B) < & M@ fdo™ @ 96 @
ferd

(©) T (A) T (B)

(D) Suga H A Bl 7Tl

72.  AIGWd T BT AT THERIT © 72.

(A) TSSO $ HRT AR A &

(B) RV &I YA fafy &
(C) WAV T & Y91d ¥

(C) =M (A) Td (B)

178-N (23)

According to Bastable, which method is

helpful in study of public finance ?

(A)

(B)

(©)

(D)

Inductive

Deductive

Both (A) and (B)

None of the above

Government can borrow from the

public :

(A)

(B)

(©)

(D)

To meet the deficit in the budget

To promote economic development

of the country

Both (A) and (B)

None of the above

Public debt deals with the study of :

(A)

(B)
(©)
(©)

Method and causes of public
borrowings

Method of repayment of debt
Effect of public expenditure

Both (A) and (B)
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74,

75.
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e T &g @ SR 3iR
AR g # qiffed o § ?

(A) v
(B) e

() 9
(D) fed

“gre Bl fa< v s B SYANT qole
@ e R WY W Y H U i
3 fhar 9T 8, 918 U8 BH SMANd ' A
Qo @ @ 87 fbdd aRIYd
o 2

(A) ¥RA™ |fger

(B) HRAIT ST SRITT

(C) . &. Hgdl

(D) ‘slecH

MAMS G BT I -

(A) ST GeT — 1ol YA

(B) INTHINRI TTET — XA el
(C) oM e — fafyanT
(D) NN Gel — IoRd Y

(24)

73.

74.

75.

Who has classified the public expenditure
into transferable and non-transferable

expenditure ?

(A) Adam Smith
(B) Nicholson
(C) Pigou

(D) Mills

“The term deficit financing is used to
denote the direct addition to the gross

national expenditure through budget

deficit, whether the deficits are on

revenue or capital account.” Who

defined ?

(A) Indian Constitution

(B) Indian Planning Commission
(C) J.K.Mehta

(D) Dalton

Primary deficit means :

(A) Fiscal deficit — Interest payment
(B) Fiscal deficit — Revenue deficit
(C) Fiscal deficit — Investment

(D) Fiscal deficit — Revenue expenditure

Set-D
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77.

78.

79.
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ART Gal B SAGURTT Bl 1959 H b
faefra famm ?

(A) IR U H@I9

(B) dl. UH. I1

(C) TR

(D) sfae Rarel

139 foxT SN & a1euer o

(A) 3. faog s
(B) N arms. ot ued

(C) T TE GuI
(D) <. 7R RiE

PR AT TR | AT I 3 ST &
M & JFER 9EING a) Aadl &
T e §

(A) A o

(B) el faxa

(C) dfdh fox

(D) e fas

Ao o & g wEled  Jws
gfcufed &1 g @ -

() Ras wwwE g

(B) SIRI® Y g

(C) ‘slecd gRT

(D) TeH ey g

(25)

76.

77.

78.

79.

Who developed the concept of merit
goods in 1959 ?

(A) R.A.MacGrave
(B) J. M. Keynes
(C) Bastable

(D) David Ricardo

The

Commission was :

(A) Dr. Vijay Kelkar

chairman of 13th  Finance

(B) Shril. G. Patel
(C) A.S.Khusrau

(D) Dr. Man Mohan Singh

Government can adjust its tax income to
its desired scale of expenditure. Its

called :

(A) Public finance
(B) Private finance
(C) Banking finance

(D) Economic finance

‘The Theory of Public Finance’ the
famous book propounded by :

(A) Richard Musgrave

(B) Joseph Schumpeter

(C) Dalton

(D) Adam Smith

Set-D
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81.

82.
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mﬁﬁmﬁﬁﬁiﬁﬂw """""""""""" %|

(A) el
(B) TSI faem

(C) IO faetr

(D) SWE & W B &

“qolc. WGR B ARSY [l ol g |
I8 A Y B IFEN qAT q9C b
YR A & AN I-HRS UG
PRl 8 |7 fhe dar ?

(A) W TP, TR

(B) fhed AR

(C) Sreed

(D) Red I

TId FT Joic foranl ded § 7

(A) IR D AN = WHR Bl I

(B) WROR & AN > WIR B Y

(C) IR & AW < WNIR P Y

(D) SWad # | BIS T2
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80.

81.

82.

Public finance is together

with other Science.

(A) Arts
(B) Political Science
(C) Normative Science

(D) None of the above

“Budget is the master financial plan of

the government. It brings together
estimates of anticipated revenue and
proposed expenditures for the budget

year.” Who said ?

(A) P.F. Taylor
(B) Findley Shirras
(C) Dalton

(D) Gaston Gaze

Which is called as surplus budget ?

(A) Govt. Income = Government
Expenditure

(B) Government Income > Government
Expenditure

(C) Government Income < Government
Expenditure

(D) None of the above

Set-D



83. MG I & fog e ¥ gl & 83. Generally deficit financing leads to :

(A) DA H B (A) Fall in prices
(B) @Ml ¥ gig (B) Rise in prices
(C) dMal R fg=mr (C) Control on prices
(D) SUYa H H Bl el (D) None of the above
84. “@®dc] @ﬂﬁ W & B T ST ey | 84. “Tax should be levied only on land.” This
Ie fomR fear mar & view is given in :
(A) DN ® aﬂgﬁrcﬁ Rrgrd H (A) Modern theory of tax incidence
(B) NIUId & fdo<iav Rierd # (B) Diffusion theory of tax incidence
(C) INUF & A0 g § (C) Concentration theory of tax
incidence
(D) SUYw H H IS el (D) None of the above
85. A9Ud & fOOR ¥ oieaw woie oy 85. The view of Musgrave regarding the
@7 Rigra & principle of maximum social advantage
IS :
(A) AT JARHA BT Hedh (A) Valuation of individual preference
(B) & FeamT H Ihg SR I (B) Economic welfare increase and
T R equal distribution of wealth
(©) SYAAAT 3R ITeT &R (C) Production and utility level
(D) SUYa H § I Tl (D) None of the above
8. q gﬁ fHdT Ahd HIoT Pl 86. i called it as principle of maximum
Rrgr e 2| aggregate welfare.
(A) UHER 4] (A) Prof. Pigou
(B) WH¥R Sleed (B) Prof. Dalton
(C) sl f2aa (C) Mrs. Hicks
(D) W9 (D) Musgrave

178-N (27) Set-D
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88.

89.

90.
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9 GRS N, WS M @ SXIEY 8l
ST &, @ 39 &9 O ©
(A) YT dlid foxT @l SFfererad Tfafe

(B) M QT &l AT
(C) M o™ @l A
(D) Suda Wl

A fad @ vg-awy & o aid
g

(A) TS g

(B) STduI™d 3MTH

(C) SHI® ol

(D) SHIE W

el e & fdaR 4 oF-9 a1 fasal
P Ad o7 @ Ay FERe & Tgd e
4 @ ARy ?

(A) S 3R STAAT TR

(B) 3MRi® Hearm

(C) M YA 3R qoic

(D) R R gof AR

AT g & = 9 ¢

(A) TR ITTH
(B) TR-TR MTH

(C) Suga H A Bl 7Tl
(D) GHI (A) T (B)

(28)

87.

88.

89.

90.

When marginal sacrifice is equal to the

marginal benefit, it is known as :

(A) Optimum limit of states public
finance activity

(B) Marginal sacrifice limit
(C) Marginal benefit limit

(D) All of the above

Subject-matter  of  public  finance

includes :

(A) Public expenditure
(B) Public revenue
(C) Public debt

(D) All of the above

Which two points are to be kept into
mind before deciding the policy of public
finance according to Mrs. Hicks ?

(A) Production and utility level
(B) Economic welfare

(C) Marginal utility and budget
(D) Stability and full employment

The various sources of public revenue
are :

(A) Tax revenue

(B) Non-tax revenue
(C) None of the above
(D) Both (A) and (B)

Set-D



91. f=foiRed § 9 9-) g oy 987 91. Which one of the following is non-tax

$9? revenue ?

(A) 3TN (A) Income tax

(B) HHRI #X (B) Wealth tax

© JhT IR (C) Sales tax

(D) SUER T4 M ¥ A1 (D) Income from gift and grant

92. “@NUId § SdeHhdl Ml ARy |)” UE 92. Who said that “Taxation should have

Hor fraaT & ? productivity” ?
(A) TRIA (A) Bastable
(B) TeH Wy (B) Adam Smith
(C) fermid (C) Seligman
(D) . &. HEg (D) J. K. Mehta

93. I ¥ gfg & W ofoRad ama 3@ & 93 With the increase of income the ...........

T — S N— utility of additional unit of income
decreases.

(A) T (A) Marginal

(B) 3l (B) Average

(C) WH (C) Equal

(D) gt (D) Total

178-N (29) Set-D



94, “@N IR VA Bl TRY SNl IRdfdd 94. “Tax system should have minimum real

” direct effect on taxation.” This statement
PR W YA Yol GG Slel |7 I8 DU

is given by :

feperes g fear T g ?

(A) Slec (A) Dalton

(B) . &. Wl (B) J.K.Mehta

(C) HEYa (C) Musgrave

(D) WL UL (D) Prof. Pigou

95. N T TeRd B A1feY 95. The system of taxation should be based

on:

(A) TIFd & g R (A) Principe of equality

(B) UIH & Rigrd W (B) Principle of management

(C) 3FHHdT & RIgFd W (C) Principle of inequality

(D) Suga H A Pl Tl (D) None of the above

96. DIF-G7 dd BN gudT bl MuiRd @xdr 96. Which factor does determine taxable

37 capacity ?

(A) 3T U9 FHRT &l fqaRor (A) Distribution of income and wealth
(B) 3T ¥ Rera (B) Stability of income

(©) RIS 3 @7 3MHR (C) Size of national income

(D) Sugad FI (D) All of the above

178-N (30) Set-D



97.

98.

99.

100.

178-N

fy=ifoRad & 9 BH-91 $F 9 & ?

(A) T JENG qoc Il gRT Ya
¥ TR HRT B
(B) I MR qore ¥ T @ 2 |

(C) I NG qoic, quic &l XM
THP 2|

(D) I SMEIRG ol AT ThUeld
g

Ad T H dulc TR B FHI BIF
qFqI <l © ?

(A) &

(B) faa w3t

(C) d I W

(D) SWad # ¥ DS T2

IRA & g fad 731 BT 99 qarsy

(A) e AR
(8) Ul fogwwH
(C) Fwa= ==
(D) A= {8
IRATT TR FaReTT B
(A)  rguTaE

(B) BRI

(C) Wi

(D) FETH!
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97.

98.

99.

100.

Which one of the following statements is
false ?

(A) Zero based budget
management by objectives.

helps in

(B) Zero based budget has sufficient
elasticity.

(C) Zero based budgeting is old
technique of budgeting.

(D) The system of zero based budget is
ex-parte.

Who makes a speech in the Lok Sabha at
the time of presentation of the budget ?
(A) Prime Minister

(B) Finance Minister

(C) Speaker of Lok Sabha

(D) None of the above

Name the present Finance Minister of
India :

(A) Nirmala Sitharaman
(B) P.Chidamberam
(C) Yashwant Sinha
(D) Jaswant Singh

The Indian tax system is :
(A) Proportional

(B) Progressive

(C) Regressive

(D) Degressive

Set-D



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
3 @ @ © ®

Illegible answers with cutting and
over-writing or half filled circle will be
cancelled.

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRIT9T STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
ST TR T U IR T2 Plel IT 98ell 1T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM @ b GEM & A0S fordd SR
e B, I B AR 3P YIM b SR |

6. T SR Dad 3l TA. IR, SR-U5F (OMR
Answer Sheet) R & A I 2| ST |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. i TH. 3R. STR-U5& (OMR Answer Sheet)
B N fore 9 @@ I A T W0 agedt @l
WU Ig foral WM |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE XM & I
B WeT B W W By | weneff oo ey
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11, W ¥ |-, deigeicy, UoR T YR
B of ST T SHBT START HRAT afoid 8 |

12. 93 & Rl Ud IS ®UFRel § f=7ar g @
T H YT BT U WURYT & A BT |

Fecaqul  YEIYRKIT Wiel W Y Wi PR ol o

2y
i3
E
oy,
a,
j
8



	178-N-Cover-D.pdf (p.1-3)
	178-N-Set-D.pdf (p.4-32)

